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Sort the following integers in ascending order
-8 16 -19 2 -9 8

(i) -9 -19 2 16 -8 8 (ii)) -8 16 2 -19 8 -9 (iii) -19 8 -9 16 -8 2 (iv) -19 -9 -8 2 8 16

(v) -19 2 -8 -9 8 16

2. Estimate the number 39 to the nearest tens by rounding off

(i) 30 (ii) 50 (iii) 40 (iv) 4 (v) 400

3. What is the smallest number that can be formed with the digits :6,2,4,1,87
(i) 12,468 (ii) 26,841 (iii) 81,264 (iv) 64,812 (v) 18,264

4. What is the succeeding number of 6801307
(i) 680133 (ii) 680129 (iii)) 680131 (iv) 680132 (v) 680130

5. What is the largest number that can be formed with the digits :0,3,5,4,27?
(i) 54320 (ii) 2534 (iii) 43520 (iv) 20543 (v) 45320

6. Write the largest 6 digit number that can be formed with the digits : {2,8,7,9}
(i) 9,72,899 (ii) 2,97,998 (iii) 2,79,989 (iv) 7,29,989 (v) 9,99,872

7. What is the largest number that can be formed with the digits :6,2,1,7,57
(i) 65,271 (ii) 56,127 (iii) 57,162 (iv) 76,521 (v) 25,617

8. What is the preceeding number of 37062497
(i) 3706246 (ii) 3706247 (iii) 3706248 (iv) 3706249 (v) 3706251

9. What is the succeeding number of 948,7887
(i) 948,791 (ii) 948,788 (iii)) 948,789 (iv) 948,786 (v) 948,790

10. 2000000 + 400000 + 70000 + 8000 + 700 + 90 + 3=
(i) 2,478,693 (ii) 2,479,793 (iii) 2,478,893 (iv) 2,478,793 (v) 2,478,783

11. 1000000 + 700000 + 60000 + 9000 + 700 + 50 + 6=
(i) 1769756 (ii) 1769656 (iii) 1769856 (iv) 1768756 (v) 1779756

12. Write the number for the given figures - thirty eight million fifty four thousand seven hundred and fifty four

(i) 38054854 (ii) 38044754 (iii) 38054754 (iv) 38054744 (v) 38054764

13. What is the largest number that can be formed with the digits :6,3,9,8,5?
(i) 59,638 (ii) 98,653 (iii) 35,968 (iv) 58,369 (v) 35,689
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Estimate the number 45409 to the nearest ten thousands by rounding off

5000 (ii) 50000 (iii)) 500000 (iv) 40000 (v) 60000

(i)

Write the number for the given figures - seventy two million six hundred and fifty two thousand nine hundred and

forty six

(i) 72,652,936

(ii) 72,652,946 (iii)

Find the place value of 7 in 387,296
(i) 700,000 (ii)

7,000

(iii)

700 (iv)

72,653,946

70

600000 + 40000 + 6000 + 400 + 70 + 8=

(i) 646378

(i)

656478

(iii) 647478

(iv)

(iv) 72,651,946 (v) 72,653,046

(v) 70,000

636478

Sort the following numbers in ascending order
32 35 39 26 15 17

(i) 32 35 39 17 26 15 (ii)) 15 17 26 32 39 35

(v) 35 15 26 17 39 32

900000 + 70000 + 1000 + 500 + 40 + 2=

(i) 971,642

(if) 971,442

(v) 646478

(iii) 15 17 26 32 35 39 (iv)

(iii) 971,542 (iv) 971,552 (v) 961,542

Find the greatest number in the list : 38 28 45 48 22 36 29 27 20 11

(i)

20 (ii) 48

(iii) 11

(iv)

28 (v)

45

Write the number for the given expanded form :
"(5 x 100000) + (7 x 10000) + (5 x 1000) + (4 x 100) + (2 x 10)"

(i) 575420

(i)

575430

(iii) 565420

(iv)

575320

(v) 585420

Write the largest 5 digit number that can be formed with the digits : {5,4,2}
(ii) 55,542

(i)

45,552

(iii)

55,245

(iv)

52,455

What is the succeeding number of 2,95,6607?
(iii) 2,95,660

(i) 2,95,662

(i)

2,95,661

(v)

52,545

(iv) 2,95,664 (v) 2,95,658

Sort the following integers in descending order
16 49 21 -25 -12 31

(i) 31 16 -12 49 21 -25

(ii) 49 -12 -25 31 21 16 (iii)) 49 31 21 16 -12 -25

(iv) 49 31 -25 21 -12 16 (v) 21 -25 31 -12 16 49

What is the smallest number that can be formed with the digits :1,3,8,5,97

(i)

53,981

(i)

19,358

(iii)

38,951

(iv)

13,589

15 39 26 35 32 17



Assignment Key

1) (iv) 2) (iii) 3) (i) 4) (iii) 5) (i) 6) (v)
7) (iv) 8) (iii) 9) (iii) 10) (iv) 11) (i) 12) (iii)
13) (ii) 14) (ii) 15) (ii) 16) (ii) 17) (v) 18) (iii)
19) (iii) 20) (ii) 21) (i) 22) (ii) 23) (ii) 24) (iii)
25) (iv)
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